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Topic:- Grad_Nutrition and Health

1) A widespread commonly seen disease/illness spread by mosquitos is:/ A3 A Bad arell TPh
S T AR W ! A arelt Far 8:

1. Cholera and diarrhea/ 29T iR &&d
2. Typhoid/ TEWTRS

3. Tuberculosis/ &3 T (CISRPaINE)
4. Dengue and Malaria/ @ﬂléﬁTﬂ@lﬁm

Correct Answer :-

« Dengue and Malaria/ 37 31R HaRar

2) According to ICMR 2010, the amount of Kcal / kg body weight required by infants (0 - 6

months) per day are:/ ICMR 2010 & 3HR, -Tauird fRIg[3ii (0-6 U1E) & fore ufafeq smaxas
fraFant/ e IR UR 5t aET 8

1. 100 kcal/100 feNmat

2. 115 keal/115 fhaidpart

3. 92 kcal/92 frefipaRt

4. All of the above/3Iudad Tt

Correct Answer :-

o 92 kcal/92 fFaipart

3) Tetanus is an acute disease induced by the exotoxin of:/ ¢ TP &1 INT g St &
sfeeifafay grT WY ghar &:

1. Clostridium tetani/dae fedd fac
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2. Clostridium perifengen/ Tﬁl@%ﬂﬂ URGToA
3. Clostridium botulism/ TSI SIgferad
4. Lactobacillus/diae o Rierd

Correct Answer :-

« Clostridium tetani/dIRcife g fc-t

4) Well-nourished women with adequate gestational weight gain should increase their food

intake for the first six months of lactation by:/ TUfa®IIHTa & waie UR q@ qreit '\f[qﬁﬁ?rtrl%maﬁ
P WU & ARG S: HEHT A 30 @ S=rigor & P g BT AR

1. 900 kcal/ day/900 fareiray/fe
2. 600 kcal/ day/600 fraidrensl/fas
3. 700 kcal/ day/700 fhaidensl/fas
4. 800 kcal/ day/800 fraliorenRl/fas

Correct Answer :-

« 600 kcal/ day/600 fPaibarl/feT

5) Cretinism is due to deficiency of:/ ELARG]| (@EFaT) St HE ¥ HRUT Il 8
1. Fluoride/ 9diRTSS

2. Iron/ 3R

3. Iodine/ 3TATSH

4. Copper/ PR

Correct Answer :-

o Iodine/ 3MAISH

6) Energy needs of pregnant women increases because of the additional energy required for

the:/ Mol Tl Bt Sl Bt MaAFAT T AM T FNF __ F g sifafvaa o aifee S @:
1. Growth of foetus/ TH® RRIg] #1 gfg

2. Physical activity/ JRIR® Tfafafd

3. Mental activity/ TR TTfafafdr

4. None of the above/ 378 ¥ ®Is g

Correct Answer :-

« Growth of foetus/ T R &1 3ig
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Prolonged chronic cough and cold which cannot be treated by antibiotics may be indicative of:/
T GG q% ¥g- a1dT g3t Wiil-ge ™ o Telaraifed grT dtw w18l fovan o wa, BT Adbd
B TP g

1. Tuberculosis/ &3 T (CTSRP MNAT)
2. Common cold/ 3H ﬂ?ff-\_zl,av"lﬁ

3. Cough/ @t
4. Dehydration/fRSTeliesRur

Correct Answer :-

« Tuberculosis/ &3 INT (CTERP ARIN)

8) Which of the following is a problem during pregnancy?/'lT‘l-mﬂ | Eﬂﬁﬁ o9 au=n ?1 SHd

g 82
1. Nausea and vomiting/ IS&T3dT 3R Iafea

2. Oedema/ TSHT (ARd UhH g ¥ I Jol)
3. Both of the above/ SWRIad gHl
4. None of the above/%ﬂ'ff | ﬁ%:@

Correct Answer :-

« Both of the above/ SWRIgd gl

%) Obese urban children are prone to:/ HISTURR et 9= § B Bt IR I gt

1. Malnutrition/gUIyor
2. Energy deficiency/ Sl Bl HH

3. Carbohydrates deficiency/ WTZI?{C’ P HHT
4, All of the above/ G“q?iTﬁ vt

Correct Answer :-

« Malnutrition/g a0

10) Epidemic of disease refers to:/ SHFufesd ﬁ'lT/'FIETFIR& Gl 3{2f37-|1?f A frad %:
1. Spread of disease in pregnant women/ el feerat & A7 e
2. Spread of disease among adolescent group/ HIRY H T AT

3. Outbreak of disease that attack many people at same time/dgd I ANl TR THATY SMHHUT HA aTel AT Bl
PCap)

4. Affects mostly children/ 3TIGBIRI: S I YU B are T

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

e Outbreak of disease that attack many people at same time/dgd Y AN R THAR STHHY B arel IRT BT

11) Environmental factors which are indirectly related to malnutrition are:/ dg gf¥asht eR® S
YA FY A UV A TR 3:

1. Personal hygiene/ faiTd Twddl

2. Population density/ SI-RIREAT O-cd

3. Environmental sanitation/ GRa=T Wegar (TRazh aRiy-fFHem)
4. All of the above/3Iudad Tt

Correct Answer :-

« Al of the above/3uad T+

12) A predictor of the impact of body weight on morbidity and mortality risks is the use of:/

3 & IUART gRT FURIadr Td ARURNEdr & SiRaH IR YRR & YR & YU BT QaiH= aemar o
g dl Bt

1. Body mass index/ E@W%@Tﬂ
2. Body rate index/ CISE E@ER:[
3. Body size index/ EIE]] SSIES 5@3@[
4. None of these/3TH ¥ ®Is -Tal

Correct Answer :-

« Body mass index/ Sl AN SS9

13) Osteomalacia develops in adults due to deficiency of:/ TUEPI | ARG (TReTIHARAT)
_ ateMF eRUGGAE:

1. Vitamin A/ faeTfa= A
2. Vitamin B/ facif@ B
3. Vitamin ¢/ faeif@= ¢
4. Vitamin D/fde1f®@= D

Correct Answer :-

« Vitamin D/fdei®@= D

14) As per ICDS norms the nutritional supplement of protein provided to adolescent girls is:/

ICDS & HFEs! & UR, fr=nival & far s arem WA &1 Nus TR 3:
1. 25 gm protein/ 25 I UidH

2. 20 gm protein/ 20 I WA
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3. 15 gm protein/ 15 I WA

4. 18 gm protein/ 18 UM UI¢H

Correct Answer :-

« 25 gm protein/ 25 UM WA

15) Pneumococcal infections include serious disease such as:/ <fHI®IHd GHHUN F TR I
M §, 99

1. Mental disorder/ AMRI® [AHR
2. Hypertension/ 3=Rdddd

3. Pneumonia/ ?{ﬁﬁm
4, Malaria/ﬁﬁﬂm

Correct Answer :-

» Pneumonia/ npﬂﬁm

16) Diphtheria infection is caused by toxigenic strain of:/ fSwifar JwHwur CACICICNEELD
WS GRT S Bl &:

1. Corynebacterium diphtheria/aﬂﬁaﬁw fSgiifar
2. Mycobacterium/ﬂmﬁaﬁﬂﬂﬁ
3. SaImoneIIa/WFHﬁFIT

4. E.coli/3. s

Correct Answer :-

« Corynebacterium diphtheria/®laaciRas fewdiar

17) Weekly iron folic acid supplementation scheme is community based intervention that

addregs:/w%wmﬁmmwmwwmmwQH%vﬁ B g
Bl 8:

1. Beri-beri/ sRI-a’t
2. Arbinoﬂavonsis/&ms@ﬁﬁ:iﬁ

3. Anemia/ YaTeddT (THIHA)
4. To treat obesity/ThETB{ P IUIR

Correct Answer :-

+ Anemia/ YadTeddr (TN

18) Groups vulnerable to under nutrition:/ fou qgg T SETNYUT BT FRITIAT 3Hfee gt %:
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1. 0-6yrs of children/0-6 TS @1 31 T §=

2. Adolescent girls/ f=nfat
3. Pregnant and lactating mother/TTHad Td T &1 381 R
4. All of the above/Sudad Tt

Correct Answer :-

« Al of the above/3udad T+t

19) Janani suraksha yojana was launched as scheme to facilitate:/ SH=t R&T TIT Cal
T g9 & forg 3Ry ot it <&

1. Safe delivery in hospital/ 37¥0dic o ﬁ?f\&lﬁ IERSE
2. Delivery at home / TR A uygg
3. Delivery in ambulance/ Ted § 79d

4. Only C section birth/&ad C Ja-TH T9d

Correct Answer :-

« Safe delivery in hospital/ 3/EqdTd & ‘VRT\&I?T Uqd

20) SARS stands for:/ SARS T T 19 &:

1. Severe acute respiratory syndrome/ HIfdeR TRIe YRRt RigH (TR e 4= Jaemr)
2. Severe acute rectal syndrome/ SfaTR THRE Yaed Rigm (TRIR dieur TamRrd e

3. Severe acute renal syndrome/ SHfaTR Tage Ha Rig (iR <iteur o dagmn)

4. None of these/3H I ®Is gl

Correct Answer :-
« Severe acute respiratory syndrome/ HfdaR Tage Yergeed) Rig (iR <fleur o1 daefon)

21) The foetus receives nutrients and oxygen from the expectant mother during pregnancy

g;;.%h/whw%avmﬂﬂWMﬁmh?ﬂmﬁ & 1 I NS dd Td SHTRiTor

1. Ovaries/ 3USIA!

2. Fallopian tubes/ Ao Afereraf
3. Placenta/ THATE (@ﬁ?ﬂ)

4. None of these/STH ¥ P15 Toi

Correct Answer :-

« Placenta/ THATA (widen)
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22) In India the suggested weight gain during pregnancy is:/ HRd ® THIGRIT & SR Gfad YR

IS &
1.5 - 6 kilograms /5 - 6 famH

2. 7 - 8 kilograms/7 - 8 for@®mH
3. 11 - 13 kilograms/ 11 - 13 f&aum™

4. 15 - 23 kilograms/ 15 - 23 e

Correct Answer :-

e 11 - 13 kilograms/ 11 - 13 e

23) An example of incomplete protein is:/ GI'IIUT e &1 Udh JalexUl %:
1. Zein/ foT@A
2. Egg/ 3fusT
3. Fish/ Agelt

4. Meat/ A

Correct Answer :-

. Zein/ foEA

24) The hormone responsible for the let down reflexes in breastfeeding is:/ Ul H raura /
TIHRT (AesT3) ufdad & forg Swverdt graiA 2:

1. Oxytocin/ {TaITCIRA

2. Insulin/ $gfeH

3. Aldosterone/ TR
4. Testosterone/ SRR

Correct Answer :-

« Oxytocin/ TaiteIRA

25) A nutritional disorder due to protein deficiency "disease the first child gets when the second
baby is born": /WIEIH @ HH A 11 IAT TP WY T PR, "gIRT 7o 311 W Ugd 9 I g

1. Osteoporosis/ SEUGRAT (SHReATRIRTR)
2. Kwashiorkor/ PRRDBR

3. Marasmus/ IRRAY
4. Oedema/ TSHT (RA Tdhd 81 I I Joi)

Correct Answer :-
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o Kwashiorkor/ 1R PR

26) Bleeding diseases is due to deficiency of: /IadHTd AT - P HU & SR gl %
1. Vitamin A/ faeTfae A

2. Vitamin B complex/ fae1® B pivcied

3. Vitamin K/ fdeTie K

4. Vitamin E/fdeTiaA E

Correct Answer :-

« Vitamin K/ fderfi= K

27) Hepatitis C virus belongs to which of the following groups?/ %ﬁ?ﬁﬁﬂ C ﬁm‘f{l Eﬁﬁ o
T A IR 3G 82

1. Herpes virus/ gXUIS IRy
2. Picorna virus/ (SCARIRCIRRG
3. Flavi virus/ FTdT araRd

4. Hepadna virus /%CIISH GRS

Correct Answer :-

e Flavi virus/ LICIECIBEES]

28) Low blood levels of folate during pregnancy can cause:/ TYfawT # Yo # WBide H1 R FH

TAA___ A edre:

1. Diabetes/ Hgﬁ's'

2. Heart disease/ gad [T

3. Neural tube defects/ dfieT T Q1Y (XA IS fethde)
4. Renal failure/ 9ad (ﬂ'cif) fawerar

Correct Answer :-

« Neural tube defects/ Tl AId QY (RRA I fehac)

29) Which vaccine is to be administered at the age of 10 years:/ 10 9 3 3T W HI--1T b1

fear Smar 82
1. Tetanus toxoid/ g ciigs
2. BCG

3. MMR

4. Oral polio dose/ T& tﬁmw
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Correct Answer :-

« Tetanus toxoid/ ¢eY TidZS

30) Growing children need good amount of protein and calcium for:/ az?raa‘r Cal & ﬁl‘l!
ST AT B WA Ud IRy #t sraxaddr usdt 8

1. Healthy growth and development / Id&f f{@f LCACEIN
2. Stunted growth/ 3[d¥& ?{@

3. Weight gain/ lﬂ?ﬁ%ﬁ

4, All of the above/ C{q?iTﬂ vt

Correct Answer :-

« Healthy growth and development / W gfg Td fdw

%1) One of the richest plant source of protein is: /378 ¥ ®I9, M & T4 Y UIGU Hidl & A TH

1. Zein/ foreA
2. Wheat/ g
3. Soybeans/ T

4. Maize/ HdDI

Correct Answer :-

« Soybeans/ T

32) Which is true in respect to Colostrum?/ gy (FiaieH) & faug # 379 I =1 I 82

1. Can be synthesised by the hewborns/aasiTd T?FQJ ] YIAYUT HR Jhdl g

2. Is a source of antibodies and secreted from the breasts for the first few days after birth/ g ST P EC D
Y& & AT d% AT & W1 9 i gl & 3R Ig Claie! Bl AN §

3. Contains primarily fat/ ERatal Hed: T Gl g
4. A hormone involved in stimulating lactation/ g giUdd Pl IEI B arell HEIEE]
Correct Answer :-

« Is a source of antibodies and secreted from the breasts for the first few days after birth/ dg STH G
I 3 ol a T & Tl S W g § 3R I8 Uelaia! &1 9 §

33) Tetanus toxoid vaccine is tagen by the population to safeguard against:/ > favg
TR 31 & fore safdal o1 dew efqurss dRA= far v @:

1. Diphtheria/ fSwdifar
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2. Whooping cough/aﬂﬁ@ﬁ'?ﬂ
3. Tetanus/ eeg

4. Cold/Jb™

Correct Answer :-

« Tetanus/ ¢eTd

34) DPT is popularly known as:/ i o1 Al T8
1. Double antigen/ 389 Ucio

2. Triple antigen/ feud Udie=

3. Polio antigen/ Tiferal Ueie

4. All of above /Sudad Wit

Correct Answer :-

« Triple antigen/ foud Tt

35) Heart disease show strong links to high: /3= & 1Y & I BT Ugd G gar Iell

f

1. Fat and cholesterol intake/ I8 Td HIRERIA A=TUGU
2. Protein intake/ e &FI"ZTEUT

3. Vitamins intake/ fae1f= srasdgor

4. None of these/ 3TH 9 P13 =gl

Correct Answer :-

« Fat and cholesterol intake/ T9T Td BICRCRIA UG

36) Important objective of national iodine deficiency disorder control program is:/ 1T STATS A
a1 PR Fa<u s1dwy 1 Agayf 38=v 2:

1. Health education and publicity of importance of iodized salt / X R1efl Td G Jad T8 HI Hgl &
UdR

2. Laboratory monitoring of iodized salt/ 3G gad HH BI YINTRIAT FIRT
3. Supply of iodated salt in place of common salt / 3T THE & R TR ASH gad TS BT SMYfd
4. All of the above/3Sudad It

Correct Answer :-

« Al of the above/3uad T+
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A dirty white foamy raised spots formed on the surface of the conjunctiva is due to deficiency of
vitamin A is known as:/ 4@ A 1 FH & HFRUT AAAHAT (Foidersdl) Hi Jag W 941 TS Gbg
FNTER 3W §T Uy A &

1. White spot/ &d faf1
2. Yellow spot/ Wid fafi
3. Bitot spot/ foele

4, Ulcer scar/dul PRIEE)

Correct Answer :-

« Bitot spot/ facie faf

38) Morning sickness is the term used for during first trimester of pregnancy:/

I BT STBT (A1 Ry, Tufawi # ugel fomdt & SR 8= arell/a & foe waa
Qg %:

1. Increased appetite/ 4 Jfa

2. Nausea/39®Tg

3. Constipation/ ®osl

4. Anxiety/Se=t

Correct Answer :-

. Nausea/BEIEb‘I’sF

39) Which promotes absorption of fat-soluble vitamins like Vitamin A, D, E and K:/ dg I % |
a1 ¥ ga-=ie faerfamy, 99 faerfiq A, D, E 3R K &7 /a=ivur gerdr 8:

1. Proteins/ UI¢H

2. Fats/ 991

3. Carbohydrates / ®TEIgIST
4, Minerals / @1

Correct Answer :-

40) Which of the following is a disaccharide?/3TH ¥ B TP SEABIISS 2
1. Galactose/ ﬁﬁa@ﬁf
2. Maltose/ HAlee N

3. Glucose/ W
4. Fructose/ o

Correct Answer :-
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e Maltose/ AT

41) Main risk factor for non-communicable diseases in urban and rural population is:/ B 3T

YRR SRS ® SRTERURIE IR BT G S FRS &
1. Alcohol abuse/ TehIgd HHART
2. Poor diet/ WIS 3TGR

3. Tobacco consumption/ d¥lg JUHRT
4. All of the above/Iudad Tt

Correct Answer :-

« Al of the above/3udad T+

42) Agaemia in our country is essentially due to:/ Etlﬁ‘ A9 § YadTeudr (ET-ﬁﬁTIT) q8Id: &
PRI 5:

1. Iodine deficiency/ 3TaISIH &1 HH

2. Electrolyte deficiency/ Stidgidse o HH!
3. Iron deficiency/ 3R &t HHI

4. Calcium deficiency/ e @T B!

Correct Answer :-

« Iron deficiency/ 3R &1 HH!

43) Koilonychia is found in which deficiency:/ gdFa (Figai=fean) fFast o1 & TR 82
1. Vitamin B12/ fde1@- B12

2. Vitamin B6/ fae1@ B6

3. Vitamin C/faetfd= C

4. Iron deficiency anemia/3{TaR- Sfth QIQ'Q Q:ﬁmfﬂ (Fﬁ's’ YT Tl dn)

Correct Answer :-
« Iron deficiency anemia/3ERAT SR THftrr (cite =gar Yadrewan)

44) Intake of protein less than 0.4 to 0.6gm/ kg of body weight per day is considered as:/ 0.4 I
0.6 I1/ U1 IR UR | FH WA & =TT Bl T Il 8

1. High protein intake/ 3= Ui 3I=Rig0l
2. Low protein intake/ % T srifgun
3. Kwashiokar/ & IRHR

4, Marasmus/ﬁm
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Correct Answer :-

« Low protein intake/ A9 TIEH sfigur

45) Amino acids that cannot be synthesised in the body are known as:/ TR | o i srat
BT AT TG B Bl I3 FEd 8
1. Important amino acids/ HgYUl 3fHHT 3

2. Essential amino acids/ 3Ta<ad (SHREQ) HHT 37

3. Non-essential amino acids/ A1dRId (:IUFT-QQ =) ST 3

4. Relevant amino acids/ Uil AT 3T

Correct Answer :-

« Essential amino acids/ 3a=a® (IURA) ST 3

46) Skeletal flourosis is caused by:/ FHTAT FARIRIT BT HRUT 3:
1. Inadequate intake of fluorine/ TR &7 3gafe 3radgu

2. Excess consumption of fluorine/ TARM BT ATIH IUHNT

3. Excess consumption of vitamin C/ faeTf®= ¢ &1 3rafded IuHi

4. Excess consumption of iodine/ SIS BT 3AfReE IJUHNT

Correct Answer :-

« Excess consumption of fluorine/ TR &1 SAfdH SUHNT

47) Undernourished expectant mothers may give birth to infants with:/ 3reqaiftra mefadt Aramng
g3 &Y o 2 THdl &

1. Low birth weight/ 571 &% 93 &H HR adl

2. Healthy and strong/ Ya® Td Tfa=mai!
3. Tall and heavy/ T @ YR
4. All of the above/ Iuad Tt

Correct Answer :-

« Low birth weight/ S/ & ¥Hg % H YR ad

48) Cholera is due to contaminated:/ T—gfod P HRUT goll BIdl &
1. Food/aTg-uer

2. Water/ STl

3. Air/ag
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4. None of these/stl'ﬁf I ﬁ?f :lﬁ

Correct Answer :-

o Water/ Sid

49) Oral rehydration therapy is given when the person has:/ Sid fed &Y gidr % dad 'ﬂ@ﬂ'ﬂ

gAstelteor fafaar (aiva Seragerm didt) & it 2:
1. Oedema/ Q@IIT

2. Conspitation/ ®osl

3. Dehydration/ EENIERUI

4. Renal failure/ 9ad (ﬂ'c{f) faterar

Correct Answer :-

« Dehydration/ FsiciiaRor

50) Iodine content of iodated salt is estimated by process call 1/ TATE god 9 |
TSI Dt /AT BT SHipa- AT UferaT gRT fohaT iTen 3:

1. Phenolysation/ ISR

2. Titration/3TJHIUA

3. Hydrogenation/ BRAGISTHIHRUT
4. Todometric titration/ STISIHCT SHTATAA (STISHICH CBCRH)

Correct Answer :-

« Todometric titration/ SASIHCT THU (IS HICH CISCRH)

51) Composition of ORS as a home remedy:/ TR # § ORS 91 & ¢ Fr A1f3e:
1. Water one litre/ TP diex 51

2. 40 grams of sucrose/40 U™ ﬁaﬁ\_ﬂ

3. 1/4 teaspoon or a pinch of common salt/1/4 BIMELE] EITW R THD

4. All of the above/ Iuad Tt

Correct Answer :-

« Al of the above/ Iudad Tt

52) HIV is transmitted by all of the following routes except:/ TI3mgdl 374 ¥ &3 ARl &1 SlgH?
3= gt | Hikd 8 P dr 2

1. Sexual intercourse/ papaliog)
2. Needle prick injury/ gs g4 9 @t 9ic
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3. Blood transmission/ Xl

4, Saliva/ dR

Correct Answer :-

e Saliva/ dR

53) Good sources of Ascorbic acid are: /TEHITa® 3T BT ST G &
1. Fresh fruits and vegetables/drs d g Hfesrat

2. Cereals/ 3T

3. Pulses/ aldd

4. Milk/gd

Correct Answer :-

« Fresh fruits and vegetables/dTsl ®d d Hfesrd

54) Polio virus is spread through:/ uiferat ﬁ'NTUJ __ . & AreEd 9 Badr %
1. Contaminated Food and water/ Tg{d Hio 3R Sl

2. By dog bite/ ﬁ & dleA

3. By insect bite/ ?ﬁ%’ GRI®IC ST

4. None of the above/ GCPQIE?[ x| @fﬁ'sc =re‘°r

Correct Answer :-

« Contaminated Food and water/ Tgfdid IS 3R ofd

55) A balanced nutritious diet for all age groups should include:/ Tt 3 ﬂ‘ﬁ%ﬁ '\‘lﬁl%l'd i
3ER | M g4 AIfRe:

1. Cereals and pulses/3{-Isl d A

2. Milk, meat, fat and sugars/ g4, A, I91 U4 YHRMY
3. Fruits and vegetables/ Bd @ Hfosd

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Sudad Tt

Topic:- Grad_General Knowledge and Logical Ability

1)
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Swachh Bacche Swasth Bharat is an initiative of Ministry of Health and
Family Welfare and / T=g g T AT TETE i} IRET om0 g9y e
 ®TASATE?

1. Ministry of Drinking Water and Sanitation / TSI 3T Ta=gar HaTdx

2. Ministry of Health and Family Welfare / T 3T 9ETT e dTor H3TAT
3. Ministry of Human Resource Development / AT9a HaTaw fasma §amaT

4. None of these / 4% & FIE gl

Correct Answer :-

« Ministry of Human Resource Development / aTHa S9Tee farsTe @=mer

2) In PowerPoint, Any and every command can be found on the: /UTaR Wlsc ﬁ', foraft oft SR Y
PUTS YT o TPl 8

1. Menu bar/ ﬁ:jﬁﬂ?
2. Standard toolbar / ¥USS [{SEIES
3. Formatting toolbar/ WA TaAER

4. None of these/ 370 J &I Tal

Correct Answer :-
« Menu bar/ B dR

3) The salaries of A, B and C are in the ratio of 5: 6: 7 respectively. If their
salaries are increased by 5%, 10% and 5% respectively, then their
increased salaries will be in the ratio of:?/ A, BdUT C & a1 BT S{JUTd HI: 5:
6: 7 81 4fe I AT H HUI: 5%, 10% TUT 5% B gfex H} WY, 9 3% 9¢ §T A< HI
3UTd SHHT: B2

1.17:36:25
2.18:66:95
3.35:44:49
4.19:65:92
Correct Answer :-
« 35:44:49

4) Delivery and storage of email messages to a server is achieved using

? / TP 9k W §-Ad e &1 faavor i SR ured far sirdn @
1. Post Office Protocol (POP) / URe by Weidhid
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2. Internet Mail Access Protocol (IMAP) / g Ud TRy Uieidhid
3. Simple Mail Transfer Protocol (SMTP) / Riud Ad ¢iawR Ulciadld

4. Hypertext Transfer Protocol (HTTP)/ BISURCRE AR Uleidid

Correct Answer :-

« Simple Mail Transfer Protocol (SMTP) / Riud Ad TRIHR Uicidhid

5) Riboflavin is a/an: / m %W
1. Vitamin/ faeTiid

2. Plant/ UTQU

3. Antibiotic/ Ufcrolfad

4. Colouring substance/ T&H® garf

Correct Answer :-

e Vitamin/ fae1feq

6) From which state was the idea of Guddi-Gudda Board under the Beti
Bachao Beti Padhao Scheme adopted? /a2t =13 o1&t TETIl TTSHT | STANT g a1l
TEI-TET A1 i HeheqaT e T & foram /21?2

1. Gujarat / S T@
2. Madhya Pradesh / wegv=er

3. Rajasthan / TrsteTa

4. Maharashtra / #g<1g

Correct Answer :-

« Maharashtra / #g1g

7) In which year was the innovative approach of Parivarik Mahila Lok Adalat

evolved? / f&a af ¥ wifvarive afgen dte sreraa & sifima foar o1 fafeaa fasar mar?
1. 1985
2. 1986
3.1987
4.1988

Correct Answer :-

- 1987
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8) Which of the following ministries will undertake Open Defecation Free
activities in the Gram Panchayat of Kayakalp award winning Primary Health
Centre under the Swachh Swasth Sarvatra scheme? / =g T 945 JIST *
AT FHIATHT TLSHTL SATAT a1l TTATHE T g o TTH T1AT § Gof | ST b HLA 0l HIAGATT
3 & & FAET HATAT FOM?

1. Ministry of Drinking Water and Sanitation / Ta<eT i Ta=gdT HATA
2. Ministry of Health and Family Welfare / Tame=T 3iiT 9&Te Feamor Hmer

3. Ministry of Human Resource Development / 917 aTee asm §3ma

4. None of these / g% & &g 7t

Correct Answer :-

« Ministry of Drinking Water and Sanitation / 9asTeT 3i¥ =T G d

9) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women cannot be called ‘Sati’?/ @<t afafa (Trwam) srfarfe=m, 1987 &
Faeta e & F S AIZATSA 7 TAT T A0t F T@T ARl AT TRAT 872

1. A widow being burnt alive along with the body of her deceased husband forcibly /

U AT ST ST O T 38 % AT STaCaed| STl <A1 ST @

2. A woman being burnt alive along with the body of her relative voluntarily / T ®fgaT
ST 379 s TFael & <8 & 919 3% TAsaqa® STl (<47 ST @1 g

3. Both of the above / 39%I<k THT
4. None of these / =%  FE A&l

Correct Answer :-

« None of these / 98 & IS Tl

10) With respect to the Child Marriage Act, 2006, find the correct sentence
out of the following options. / 3= faaTg srferf=am, 2006 F awfaa e Feat & ¥ a5t
oreeT T F97 FL |

1. This law is also applicable to citizens of India beyond India / 7g AfaRaw w=a % 187
AT AR 9T Y A1) &

2. This law is applicable to whole of India / 78 fafFaa W AT H @1 &
3. Both of the above / 3T aET
4. None of these / =¥ & #Ts 7!

Correct Answer :-

« This law is also applicable to citizens of India beyond India / =g afarfe=m 9d & aTg<
AT AR 9T Y A1)
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11) In respect of OSI model, LANs implement:/3TH3ME ATsd & ey &, o
1. Lower two layers/ = &1 &l R H

2. Lower three layers/ I P dF TR |

3. All seven layers/ gt I TR H

4. None of the above/ t{mjaa =i aﬂ‘a‘ﬁ

Correct Answer :-

« All seven layers/ gt grat R H

12) The characteristic foul odour of faeces is due to-/ #&@ &1 fARRIP Ty F71 gar &:

1. Indole/3aTd
2. Skatole/ TpeId

3. Both of the above/JURIdd ?a:h
4, None of these/ g:ﬂef I aﬂs‘ '_'|_Eﬁ

Correct Answer :-

« Both of the above/SURIId ?a:h

13) The compound 'niacin or nicotinic acid' is a constituent of:/ o= a1 Feifeie snar o
# ¥ fpueT sragd g1 &:

1. Vitamin C / faetfé ¢

2. Vitamin B complex / faerffa B complex
3. Hormone thyroxine/ YTRINIH BRAM
4. Sugar / DB

Correct Answer :-

e Vitamin B complex / facifA B complex

14) In how many years will Rs.30,000 amount to Rs.34728.75 at 5% per
annum when compounded annually?/ fpaq auf & =qd 30,00039[ IR 5% aifife
Thqles STol Bl GX A ©UYd 34728.75 &l FRAM?

1.3

2.4
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3.5

4.2

Correct Answer :-

15) DIRECTIONS: Which of the answer figures is exactly the mirror image of the question figure

if a mirror is placed on the line MN?/ frdan: e § @ o9 @ SR mﬁrw&r&wﬁrmaﬁw
fafda gt afe e o ¥ar MN R @ s

Question Figure / gqoa7 3Rig

N
Answer Figures/ 3Icd¥ H]Ejﬁ?ﬂT

M

(1) (2) (3) (4)
1.1
2.2
3.3

4.4

Correct Answer :-
e 3

16) At what level does the Juvenile Justice (Care and Protection of Children)
Act, 2015 states that there should be one or more Child Welfare Committee
constituted? / i< = (T it T@X@ T &) ATA=Ew, 2015 F SR A9 § F HA9
TIL I TF AT ATF ITA FedTor G T =41 Y T A2

1. State / T~¥
2. District / ST
3. Block / s1Teh

4. Panchayat / 9919a

Correct Answer :-

« District / f5m


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

17) For how many maximum years can a person be imprisoned for
performing, conducting, directing or abetting of child marriage under the
Child Marriage Act, 2006? / s faaTe stferf==w, 2006 F AR TT fAaTg F GaeaTwar &
FeTaT rarelier, Gage, AT AT TICHTET FLT aTel SATRRAT i hd=T ATAHAH TUT T ha (AT AT
qHaT g2

1.2
2.3
3.4

4.5

Correct Answer :-
« 2

18) If ‘air’ is called ‘green’, ‘green’ is called ‘blue’, ‘blue’ is called ‘sky’, ‘sky’
is called ‘yellow’, ‘yellow’ is called ‘water’ and ‘water’ is called *pink’, then
what is the colour of clear sky?/uﬁs?ﬂaﬁ ‘erI'dhel \‘rﬂ'cﬂ%, e’ Hﬁ‘ﬁm’ﬁr SITdT
g, ‘A1 B ATHHT’ BT STdT 8, TIHT’ B "W Hg1 S1a1 g, "9 &1 "ur-l’ Hgl |rdr
8, U B T[ATd)’ BT SATAT 8,91 ATH ATAHT BT 3 T 82

1. Blue/Tel

2. Sky/SHM
3. Yellow/dtel
4. Water/dT1

Correct Answer :-

o Sky/3THH

19) How many fellowships are provided each year under the Rajiv Gandhi
National Fellowship scheme? / TS et TrE W8T FISHT % Siavia < a9 § fohae
AT AT BATTAT =T STar 32

1. 667
2. 668
3. 669
4. 670

Correct Answer :-

. 667
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20) Number of essential acid in man is-/ IS T STaRg® SHAT 37 I BT 8-
1. 18

2. 10

3.8

4. 20

Correct Answer :-

« 10

21) Which of the following diagram best represents the relations among
Calculations, Multiplication and Environment? /{8 & & ®19-3T 3@ 70T, 00

3R IIdTaR T & S g Y P T 82

W e o

@ ® © O
1. A
2.B
3.C

4.D

Correct Answer :-

22) The average weight of 9 mangoes increases by 20 gram, if one of
weighing 120 gram is replaced by another mango. The weight of new mango
is: / 9 3TH T 3 HIR 20 UTH §¢ WTdT 8, Tfe TP A FTTHT 9919 120 ITH §; ITS dad
TS 4T 3TH AT ST 81 T 3T BT R 8:

1. 180 gram/ 180 9H
2. 200 gram/ 200 91H
3. 260 gram/ 260 9™

4, 300 gram/ 300 UH

Correct Answer :-

« 300 gram/ 300 9H

23) In a test, minimum passing percentage for girls and boys are 30% and
459% respectively. A boy scored 280 marks and failed by 80 marks. How
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many more marks did a girl require to pass in the test if she scored 108

marks?/ T W # asfeal i as@! & ol <gAan S<ivife HaR: 30% 3R 45% &1
TS TSP 1 280 3 U fomar 3R 80 3iwf [ srxhtvf ¥ maT| ver asa! oI 108 3iw
e {5, 39 Sl 319 & i fpraq sk siel &Y smazgsar 82

1.132
2. 140
3.160

4,112

Correct Answer :-

« 132

24) Initially how many districts were covered under the Backward Region
Grant Fund (BRGF) programme? / sr<¥ | [UEET & e [t %9 $o fovae v
CEIVAERIE R I

1. 250
2. 256
3. 268

4,272

Correct Answer :-
« 250

25) Who will be the head of the household for the issue of ration cards? /
T FTST & THIAA § et % TeT Fohaeht 71497 17 872

1. Eldest male member above 18 years of age/18 aW & Ifa® o & Fa& 98 =T T3
2. Eldest female member above 18 years of age/18 a¥ & {fers g F TaH 92 HIZAT HEET

3. Eldest male member above 21 years of age/21 a¥ & A& A & Ta¢ 92 [&F q3¢

4. Eldest female member above 21 years of age/21 a¥ & 13 7 F T I8 ATZAT HaET

Correct Answer :-

- Eldest female member above 18 years of age/18 a9 & afers AT F Ta¥ 92 HigAT A2

26) Kusuma is the wife of Ravi. Govind and Prabhu are brothers. Govind is
the brother of Ravi. How is Prabhu related to Kusuma?/ $HI, I o uelt 31

Mfag iR wy urg T IMfaw, I &1 uis 81 vy, $gaT A 59 vor gwfiq 82
1. Cousin/& o
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2. Brother/ﬂ-l'l'é
3. Brother-in-law/GﬂTr!T/aT:IT/@?)“

4. Uncle/3[®d

Correct Answer :-

. Brother-in-law/GﬂGlT/aTﬂ/@'cF

27) The total number of ova produced from 100 primary oocytes is-/100 MYFHF USSP HIRBT3M
| g9 aTd SUSTUI3{T &Y F=T giil-

1. 100
2. 200
3. 300

4. 400

Correct Answer :-

« 100

28) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ e fRafafed uy o uyars e ) & R
R TIHIT DI AT | ST ?

) 'I_
(624) | 14.02 + V404 4 15.97 = 2

1. 671
2.570
3.710

4. 510

Correct Answer :-
e 671

29) When was the Department of Disability Affairs created? / fferar &1 fawmr
T TITIOA 6T TAT?

1. 2010
2.2011
3.2012

4, 2013
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Correct Answer :-

« 2012

30) Which answer figure will complete the pattern of the question figure? /

o & @ 19 Wt SR srepfa uy sepfa &t quf st

S%

[y

w

ZENNVZ

4.

Correct Answer :-

”

31) A group of men decided to do a work in 15 days, but 2 of them absented
themselves. If the rest of the men finished the work in 20 days, find the
number of men that had initially decided to do the work. / &Il &1 TP gad
ot w1d &Y 15 Y H qRT e &7 Fozerg wear @ afe 398 9 2 @fad srgufeua gt wra 7
afe Qv afed 3 wrd #) 20 oY A w1 Fea 8,9 Ffeaa) ot = R A frat gz

1.10 men/ 10 3TGH!
2. 8 men/ 8 3{THl!
3.5 men/ 5 3{TeHt
4.7 men/ 7 3cH!

Correct Answer :-

« 8 men/ 8 3McH!
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In which year was the Saansad Adarsh Gram Yojana launched? / 99 stef 919
TISAT FITE TG F AT GaT?

1. 2013
2.2014
3. 2015
4, 2016

Correct Answer :-

« 2014

33) Which microorganism cause hepatitis p2fFaAd P ﬁ&'ﬂ“ﬂa %TIE'IE'&'\‘T &t &1 IR %?
1. Virus /ﬁw

2. Protozoa/dTCISISAT

3. Bacteria /\_FﬂaTQI

4. None of these/ 370 ¥ aﬁ's‘ ol

Correct Answer :-

« Virus /fquTg]

34) What is the keyboard shortcut for creating a chart from the selected

cells? / 9f4d A A TP I T4 & fo¢ HIEIS Aidde AT 82
1. F11
2.F7
3.F5

4. F3

Correct Answer :-

- F11

35) Sanjay sold a bicycle to Salman at a gain of 46%. Salman spent Rs.40 on
repairing and sold it to Sunil at Rs.1500. In this process Salman got neither
profit nor loss. What was the cost price for Sanjay? / ﬁmﬂwaﬁw
TSP 46% & ATH W 99T | AU TPt AT T FUd 40 T fhaT 3R T0d 1500 |
gira & 3= fear | 5 uftha & w3 9 ary g3 iR 7 8 71| ot Tera & o wa ge
HT 41?

1. Rs.900/%. 900

2. Rs.960/%. 960
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3. Rs.1000/%. 1000

4. Rs.1060/%. 1060

Correct Answer :-

« Rs.1000/%. 1000

36) A man completes a Journey in 10 hours. He travels the first half of the
distance at 21 km/h and second half at 24 km/h. Find the total distance
travelled by him./ T% afad T a1 10 He | uf Hvar 31 98 a1 ® vga omeh gt 21
forft/ae 3t nfa & g Hvar g ik 2w e &t & 24 ot/ ot wfa & gaar 31 39 g7
T DI g g JIG T

1. 180 km/ 180 foT
2.210 km/ 210 f&Ht
3. 224 km/ 224 fHHt

4. 240 km/ 240 f&H

Correct Answer :-
e 224 km/ 224 f&HT

37) DIRECTIONS: Choose the missing terms out of the given alternatives./

fordr: fog e fasedt & @ gw el & 3ra 3|
m_nNm_n_an_a_ma_
l.amammn

2Z.aamnan

Z.ammanm

4. aammnn

Correct Answer :-

38) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fiq=r: fFafafad vy & uyars e (2) & ®=IH
TR ST B T AT ST ?

4433.764 - 2211.993 - 1133.667 + 3377.442 = ?
1. 4466

2.4377
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3.3633

4.4144

Correct Answer :-

« 4466

39) Which one of the following options is/are not true? / % ¥ & #iwar1 faseq g8l
TEI 872
1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance

from a joint Hindu family/ =g STrfaer sfaf==m, 1956 afexi F UF &< @rg TA &
FA ST T SATEHRTT 7T ThelT

2. The Hindu Succession Amendment Act, 2000 gave daughters the right to
inheritance with her male siblings / &g STCa=R Ferrere stfafaaw, 1956 & FIT ATedT &l
Fo 9T F A1 e #T srfereT e R

3. Both of the above / 392k =1
4. None of these / % & FIE A&l

Correct Answer :-

« The Hindu Succession Amendment Act, 2000 gave daughters the right to
inheritance with her male siblings / &g SATfa=RTE Fomrerd srfafaaw, 1956 & gT afeai &
SO ATSAT o AT FETad &7 ATeER Ta1 6T 3T

40) Which of the following is not a field type in Access:/ 19 & ¥ &9 Wt Te@™
H wivs T8 &:

1. Memo/ A

2. Hyperlink / RECREES

3. OLE Object/ OLE 3ilsaide

4. Lookup Wizard / &3 faoms

Correct Answer :-

« Lookup Wizard / 34U faars

41) Diabities insipidus in controlled by-/ST¥adIS =M™ frrifya giar 3-

1. ADH/ ADH gRI
2. ACTH/ ACTH gRI
3. TSH/ TSH gIRT

4. LH/ LH gIRT
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Correct Answer :-

« ADH/ ADH gRI

42) Which of the following schemes aims to prevent trafficking of women
and children for commercial sexual exploitation? /% & & F7-Y Tro=T #1787
AT UF SgT % SATAGTIA® 17 LTI HT G720 HLAT 82

1. One Stop Centre Sakhi Scheme / a9 ¥ ¥ &Y TIsT
2. Swadhar Greh Scheme / &% g FTsHT

3. Ujjawala Scheme / Isra«T Jrst=T

4. Nai Manzil Scheme / Tt ®fSrer Frs=T

Correct Answer :-

« Ujjawala Scheme / ISaHT ITsAT

43) DIRECTIONS: Find out missing number from the figure given below./

g - & wit srefa & g W sima Hifeu

[ =

e
)
) I N B

i
[ ]
[ =]

1.1
2.3
3.2

4.0

Correct Answer :-

e 3

44) Which of the following is not used to connect to the internet? / fada
DI T Se¥e | Fae B & ¢ ST A1 fpar wirar 82

1. ISDN
2. DSL
3. MODEM

4. VDU

Correct Answer :-

« VDU
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45) Which of the following had launched the ‘Green Business Scheme’? /A& &
T = forsee T &1 = e fRa?

1. Ministry of Finance / fa=r ¥t
2. Ministry of Tribal Affairs / SESITA T T GaTeT

3. National Safai Karamcharis Finance & Development Corporation / Tgi HHTS FHATI
ERRCREEIGRERED

4. Ministry of Environment, Forest and Climate Change / 9aTa=u, a+ X ST@a1g qadd
Correct Answer :-

« National Safai Karamcharis Finance & Development Corporation / TT8IT TS FHATL
ERRCREEIRETE)

46) How many members are there in the State Food Commission as per the
National Food Security Act, 2013? / TET @1 TL@T ATATIR F FTHT T Q=T AT
% FoFa 93T g9 ATRU?

1.5
2.6
3.7

4. 8

Correct Answer :-

e 7

47) Under which Article of the Constitution was the Right to Education
brought in? / ST A4 & FIF9 Ao § (AT HT FATAFHTE ATIAT AT AT?

1. 21(a)
2.21(b)
3.21(c)

4.21(d)

Correct Answer :-

48) Fat-soluble vitamin is : / GHT & mﬁ' ferfiq 8.
1. Vitamin A / fdeT#T A
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2. Vitamin B1/ [aeT#4 B1
3. Vitamin B12 / [de1®A B12
4. Vitamin C / ﬁ?‘lﬁl_"f C

Correct Answer :-

e Vitamin A / fdeT#HT A

49) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements./ 331 7 faE T y=A ¥ 5 FuA 3R IS 918 $O Fewd few e B
3Myeh! feT T HYAT B T ATAAT 8, Hdl g1 9 Jagnd a2l I fa—= udia ga 8t 1 Jft st
o1 ufer fpe au Fifm fr faw e frepul # | S 91 ahTa $U J SgaRv HdT 8, T8
wdyTd 9w 99 i g

Statements: /HY:

All fruits are lions /94 d, IR &

All lions are foxes/d¥l IR, AAfSTT &

Some foxes are eIephants/WFﬁﬂ%ﬂT,BTQﬂ%'

Conclusions: /o

I. All fruits are foxes/9 wd, AAfSai &

I1. Some fruits are elephants/$9 d, BT??[%'

1. If only conclusion I follows /Hﬁmﬁwﬁl &IT;NTUTW?IT%

2. If only conclusion II foIIows/ﬂ%Wﬁf@b_ﬁf II &ITHTUTW%

3. If either conclusion I or II follows/af¢ a1 df fpy 1 4T 11 GHHTUTHT{EIT%
4. If both conclusion I and II follow /U%ﬁ'@b'ﬁf I 3R II a1 Gﬁﬂwm%

Correct Answer :-

. If only conclusion I follows /3f¢ Had fASHY 1 3IIR0 Hdl §

50) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ f&3r: fFafafaa urg ard &1 wmgd® srwrgs #= g mo uy
& I qiferg|

The pie-chart given below represents the percentage wise distribution of

students in six different schools./fFaurg aré & 6 fia faemeal & faenfiay =1 ufa=e
faa=or uefRfa forar man @

Total number of Students/$d STAI B JBAT = 6000
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Sehool FrzaTerT
schoo!/Frgamere ﬁa?xxx\ - »

1%
khwl;ﬁ{‘mﬂ E

9%

School ffrTaTET 8, 0%

Scheol/fEWA D,

18%

What is the total number of students in School-B and School-C together?/

e B iR famme ¢ & oo ol @ S | 82
1. 1700
2. 1900
3. 1600
4. 2100

Correct Answer :-

« 2100

51) Manik starts running towards South. After running 25 metres he turns
towards North. After running 30 metres, he turns towards East and runs 20
metres. He then turns towards South and runs 20 metres. How far is he from
his initial position? /AT, Sf&0r $ 3R drs1 URY Hd1 81 25 HicI &g & 91<, 98
IaR B 3R g3 o1aT 81 30 e dreA & a1, 98 Ud $t 3R g1 3 3R 20 Hiex qsar 31
a8 fhv ofaror 1 3k gdr & 8iv 20 Hiew dsdr 21 a8 3R URfie ' | feadt @ @2

1. 20 metres / 20 Hex
2. 25 metres /25 e
3. 15 metres/15 Hiex

4. 10 metres/10 Hex

Correct Answer :-

e 25 metres /25 Hex

52) How many types of clusters are there in the National Rurban Mission?/

YT &= T § Fohae T o Foree< 87
1.2

2.3
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3.4
4.5

Correct Answer :-

e 2

53) To which of the following is the Hindu Succession Act, 1956 not
applicable? / fg=g STUfe=r srfafaaw, 1956 A% # & foha AT 9X AT 981 graT 52

1. Jews / ST THTS & AATH

2. Scheduled Tribe / ST~ ST
3. Both of the above / 3T 3T
4. None of these / =78 o #®IT A&l
Correct Answer :-

« Both of the above / 393k TiAT

54) How many triangles are there in the following figure?/f% 3nefa & Ay
o1 W@ fpat 82

1. 24
2. 26
3.28
4. 20

Correct Answer :-

55) F7 key is used for?/F7 Qﬁﬁ ITART $Y STl &2
1. To check the grammar/ JHR JPH B B ﬁﬂ

2. To spell check/ WfiT <o B3 & forg

3. Both of the above/ IURIE GIHI

4. To close the window/ faug] &g &3 & forw

Correct Answer :-
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e Both of the above/ IWRIGd Gl

Topic:- Grad_Managerial Skill

1) The study of large society is known as:/ ReMTA TATT F ALAIT R ______ Fgd gl
1. Micro sociology/ g&q HATSTH

2. Macro sociology/ 98 TATSIITH

3. Industrial sociology/ =i aRTSTaT=

4. All of the above/ ST a+ft

Correct Answer :-

« Macro sociology/ 9g& FATSIATH

2) Name the relation that exists in group developed on the basis of personal
connection is:/ SRATT JETa/A¥T% & AL X [AHAT §U g § AN ¥ FT 79 IdqT10-

1. Formal/sia=mts
2. Informal/=To=Tie®
3. Indirect/aqger

4. Secondary/fgda®

Correct Answer :-

« Informal/sATa=mR=F

3) All the unique traits and pattern of adjustment of the individual is known

as:/ =xf<r &t ot s frduarsh s awasm F et v FFd &
1. Personality/ =affear

2. Responsibility/ 3a¥aTiaea

3. Creativity/ T=tefierar

4. Authority/ JTfa=T

Correct Answer :-

« Personality/ =afxrea

4) As per the population census 2001 in which state literacy rate is lowest?/ SFTUMT 2001 &
TR 5 35T B JTeRdT R GO U 272

1. Bihar/ fo8R
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2. Rajasthan/ STRYH
3. Orissa/ 3fifgQm
4. Sikkim/ f&fgea

Correct Answer :-

« Bihar/ fagR

5) A method in which all the members of the group accepts the decision?/ 7%

fafer Sraw ag F asft gee vy w1 SR w A &
1. Rules/ ff=w

2. Goal/ ==

3. Compromise/ TH=TdT

4. Aims/ 3297

Correct Answer :-

« Rules/ fFaw

6) Visual communication includes:/ 397 ¥9X § ATAA &
1. Body language/ o< &t srr

2. Facial expressions/ =g< & gra-91a

3. Gestures/ gra-919

4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ 393 T+t

7) Wrong selection of channel is a: /a7 (39a) FTT@TIIT__ 2l
1. Problem of Government/ %< I U gu+a7

2. Problem of Television/ Z=ifers &t U sH&AT

3. Problem of Communication/ =< $t U T@eaT

4. Problem of Radio/ ¥f==T &t u= 7047

Correct Answer :-

« Problem of Communication/ §=T< Y UF Ta&4T
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8) Body talk is also known as:/exfismarar st wga 2
1. Noise/sl®

2. Overflow/«fa9aTE (A=)

3. Leakage/fmma

4. Physical communication/emiiiia #=1

Correct Answer :-

« Physical communication/eméifeF €91

9) When was Consumer Protection Act enacted?/ JuHIT &1 Siffraw &1 Siffawa &9 gl
Yr?

1. 1980
2. 1985
3. 1986

4. 1991

Correct Answer :-

e 1986

10) Another word for Authoritarian leader is:/ Gﬂf\iﬁﬂﬁﬁﬁ arf‘w-gaa ﬁﬂﬁﬂv_clf/ﬁ?n BT gIRT ATH
%-

1. Democratic/ USTIdiR®

2. Dictator/ dMHIRITE

3. Participative/ 3El's’ﬂ-ﬂ‘ﬁ

4, All of the above/ GTRiTﬁ vt
Correct Answer :-

¢ Dictator/ d-IRIG

11) Summation of attitude of group members is called: /99qzg ¥ 93T F T&EIT & TNT
H_____ FEdg

1. Motivation/s=orT

2. Morale/s=rae

3. Both of the above/ I9I<h a1

4. None of the above/ I9%Ih & & #I< Ag!

Correct Answer :-
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« Both of the above/ 3uZi=F a1

12) When academicians are called to deliver lecture or presentation to an
audience on certain topic on educational nature it is called:/ ST« farertfa=y v

Stfers wafar & et foror o= gei=hi/=areli % Heq AT a1 o qia o % forg st frar srar
W ___ FEA2

1. Training programme/ TFEreqor sk
2. Seminar/ ST

3. Workshop/ #aemeT

4. Symposium/ ==t

Correct Answer :-

« Seminar/ |IST

13) What is the most important feature of a social group? /a1 d3g &t g9

HAEA Ul (AQwar 7 82
1. Sight/3f®

2. Interaction/s=afsaT
3. Relation/#=a

4, Touch/=qst

Correct Answer :-

« Interaction/sr=ataT

14) The most fundamental term in Sociology is:/TATSIATE & GATIF A IS &-
1. Society/dHTsT

2. Group/s9qg
3. Individual/= e

4. Action/FTaaTar

Correct Answer :-

« Society/®HTST

15) Oral communication is the interchange of:/ #1f&® €91 FT -T2

1. Verbal message/ artfeas Haer
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2. Written message/ forfera sger
3. Clues/ @at
4. Signs and gestures/ Tl 3T gra-wiRraTsH

Correct Answer :-

« Verbal message/ erfeas Haor

16) The group which is more influential than family for the adolescence is:/

Forent 3 forg afeme & srfar sl a9z &-
1. Occupational group/ ZTaTAF 998
2. Peer group/ fe=/aa®er T

3. Out-group/ afZEHz (A3-)
4. Religious group/ gTtd a9g

Correct Answer :-

« Peer group/ f=/aweet a8

17) Name the control of society over individual: /=% v< uTsT % fA==or &1 7197
IdTU-

1. Custom/ff
2. Social control/dmaTiorF =0T
3. State/Ts@

4, Sanction/vfaaer

Correct Answer :-

« Social control/aTaT{Sre fAz=or

18) To cope with stress in a group a leader should have a healthy:/ 3g & a9

H THRTIAT HA 6 [T AqT/Agcashadl & I €T _____ FHET AT T
1. Environment/ Taia¥or

2. Body/ a6

3. Relations/ @&y

4. All of the above/ STd T+t

Correct Answer :-

« All of the above/ 393 T+t
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19) When was the Tenth Five Year Plan introduced?/ gdl Yaaufa aieHT $a SR®Y §'§ 1 k4

1. 15t April 2002/1 310d 2002
2. 15t April 2003/1 31Ud 2003
3. 15t April 2004/1 30 2004

4. 15t April 2005/1 375 2005

Correct Answer :-

« 15t April 2002/1 31 2002

20) The mode of communication that involves a single source of transmitting
information to a large number of receiver simultaneously is called: /59X &t a8

foreT e Fa T A0 AR HT TTaHATS 6l Tgd T81 G&IT 1 Th AT AT HLAT &, F97
FEATAT &2

1. Group communication/ g =X

2. Mass communication/ S 991

3. Interpersonal communication/ sdsafr® 791X
4. Intrapersonal communication/ sq¥raa{<rs H=TT
Correct Answer :-

« Mass communication/ ST 59T

21) In which state the literacy rate of women is highest?/ o rea ® wfgen TreRar & Jaifte %”

1. Tamil Nadu/ dfere g
2. Kerala/ IR

3. Mizoram/ e

4. West Bengal/ f3H sT@

Correct Answer :-

o Kerala/ CRG|

22) When was National Development Council formed?/ T8 fa&e uRwg &1 73+ %« fobar man
qr?

1. 15t March 1950/15 AT, 1950
2. 6t August 1951/6 3T, 1951

3. 6t August 1952/6 37T, 1952
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4. 26" January 1950/26 S-ad, 1950

Correct Answer :-
« 6™ August 1952/6 3{TRd, 1952

23) Which of the following is the function of Planning Commission?/ sqﬁ'ﬁ a1 i s #1 Uh
P §?

1. To estimate various resources of the country/%ﬂ & fafte TareAT o1 Sficha BT

2. To prepare plan for balanced and effective use of resource/ TTEH & Tqferd Td THIET ITANT & forg e
DAl

3. To review plan/ IS B THIET HIAT
4, All of the above/ C{q?iTﬂ vt

Correct Answer :-

« All of the above/ ST A+t

24) Management skill is associated with:/ TseaFiaa ¥ 9¥5 &l
1. Technical skill/ Tt F1erer

2. Human skill/ a9t #tere

3. Conceptual skill/ ELTeoreas Fiere

4. All of the above/ 3Td< T+t

Correct Answer :-
« All of the above/ 393 a+ft

25) In which religion largest population growth was noticed during 1991-2001?/ Ty 1991-2001
T fra ol o Taifee i gfs ¢uit w2

1. Hindu/ 8¢
2. Muslim/ T

3. Christian/ 3915
4, Sikhs/ Rrg

Correct Answer :-

« Muslim/ GEaHH

26) How many censuses have been carried out till date since independence?/ Tadadl T ABT 3G
% fradt IR SO B g@ 72
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1.05

2. 06
3. 07

4. 08

Correct Answer :-

e 07

27) A hostile situation resulting from opposite views: /Rudia gfeon & Icq=
EIRESEREIRITGESIGR

1. Brainstorming/ fE=me-sue
2. Compromise/ T9=itar
3. Conflict/ 7a¥=

4. Coordination/ g9==a

Correct Answer :-

« Conflict/ wa¥=

28) For which year the largest census is being conducted in India?/ g af # yRa # ge9 a?ﬁ
SRTUTHT HaTferd 8t et 82

1. 2001
2. 2010
3. 2012

4. 2011

Correct Answer :-

« 2011

29) At what interval population census is conducted in India?/ YRd ® SFTUET fHaq S-RTd W)
1 STl 22

1. 05 years/05 qy
2. 06 years/06 I%
3. 10 Years/10 @&

4. 15 Years/15 99

Correct Answer :-

« 10 Years/10 9%
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30) To be effective every leader must try to:/ TSt g9 % forw g AqT/Aqeasat
HI T TATH FLAT ATZ TN

1. Understand human behavior/ AT9a S@gE &l T9AT

2. Predict human behavior/ ATHa ZFAgX T QATIATT AT
3. Control human behavior/ 9THa =7ag &1 AT F
4. All of the above/3IT=F T+t

Correct Answer :-

« All of the above/3wd T+t

31) In oral communication what matter most:/ #ifas 99X & a9 AfF AgT TR

gargfrema__

1. What you say/ FT F2d &

2. How you say it/ & Fgd &

3. When you say it/ & Fgd &
4. Where you say it/ Fgf #2948
Correct Answer :-

« How you say it/ 4 Fgd g

32) Criminal activity by means of electronic network is:/ sa#if® dea#® & ATeqH
EE RN PERIRIEIE) &l

1. Corporate crime/ Fqie I
2. White collar crime/ T%Eq19r 914
3. Deviance/ fa=e=

4. Cyber-crime/ a1d€ s9a1g

Correct Answer :-
« Cyber-crime/ a1g€T (9

33) An artificial and highly commercialized culture popularized through mass

media is:/ STHEATT ATEAHT GIT ATHRIAT qATAT Tt T F77 v sreafars ariored g 9o -
1. Universal culture/ Tasiitas d&hfa
2. Urban culture/ o=t S5t

3. Mass culture/ S "#&fa
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4. None of the above/ 3T | & #TE g1

Correct Answer :-

« Mass culture/ S #&pfa

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./ fAé=r: frafefaa we=r
P UFYHD TgH I -4 &3 T gglawadt wxal & W6t faved &1 9971 $3|

A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

m(ﬁgam)ag%ﬁiﬁamwm%lau‘rﬁammnﬁawﬁwaﬂ%ﬁmﬁmﬁ%lwﬁq

| § TR &7 3gHd HId & 370 T 3T, R (eq) & Jad wfda=medt gikdt 81 fd far
%wﬁwﬂ?mwmqﬁélm ST AN & fore I Wreaf & 3ref S-S B WP &1 TH
fafirr HTYTY Sie & 3R $ IR YR SIS 81 ordT 21 89 9K Yiaraii/ gxfe] &) aRafdsdr & 98¢
Y 1 TR UeM $31 & 1T Tx0- 40 Ferae IHREl ST YO $3d &, d1iP 3¢ fauR Jxadl 9
JU 3T WY 39 I T | g9 eI, R, B, wargs], smaral, aifersisi, Aisal, Ares! fe &1
IUUNT BYd &1 A GEP AT Sid Y Medl 1 TP 91 § Gl Sl & Hife R &1 te 9
3t A= & ST A a1 Sirar 81 3 Jerae JrafaT e e fia vem, $fe fAffa #<a, siftrma &1
R T/ 3Mfe # Hag Hedl 81 TG AU HeH-ATHRa) &7 SUaNT $1 # safe &) Ja- s
BT YT @ 3R gxfh/ et avf &) ST # @1 31aT &1 SIATIH He&-A &1 ardl a1 saRe &
AR & U § YA fHar e ey, 39 W gt ave Fk w8 g anfgul

%\Ihich sense is the most powerful in learning?/ SferT (?ﬂ@ef) # P-W A= T wfqa=mett gt
?

1. Ear/ &
2. Nose/ Al
3. Eye/ 3G

4. Tongue/ SITH

Correct Answer :-

o Eye/ 3

2) DIRECTIONS: Read the passage and answer the questions that follow./ fiézr: fFrafefad weri=r
B AFYAP UgH IqP A1 &0 T ggfamedt uzAl | w6t fawey &1 99 $|
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A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

= (fager) &% @ o 3 o wovan §1 Tl @ aifts wordh 3 & AR 9= § weg et g 1gw R
U FHf=a] | TR BT U HId 8 30 & 31, Siferm (Ram) o Jad wfda=mett gidt 81 fasdt faw
P IO & fore Rreq yafed &Y & 18reT-3renT A & fore I8 wsg) & 31 SrerT- 3rer 8 I d &1 gH
fafta HTaTE Sierd € iR S IR JAR HIS 8 S1dr 81 89 gHR Hiarsi/ <xie] &) aRdafaedr & 3¢
T 31 IR ve@ $31 F T T29- 4o Tgrae Al &1 TR $3d §, dife 3= [adR IRadr 4
T H 3T ST | 39 I3 A g0 Ui, o, wiehnw, Twrgsy, smawl, aiferersh, Aisdl, Ares! anfg &1
IUANT I &1 A AP JTARAT §id T Wea! b1 WP 991 § HHIdT Sl ¢ i fER] & v 4
3iftre A= & ST A @1 S 81 3 Jerae it e e fva vem, ofe fAfifa #<q, siftnm &1
TG geM 3nfe A Heg Hd! &1 TN ATIT TS -AHRA) BT STUNT HI1 # Al B TUATHD
BT 8T @ 3R gufep/ oiar avf &) e & 3@ 8T 21 AT Yers-url $Y araf a1 e &
TN & U H YT foham o AR, 39 wR gt ave ik &1 g anfguy

Why do communication becomes difficult?/ TOIR Hfea Fal ?[ SIGH %”
1. Because we are from different religion/ Fifs BH RERLIE %‘

2. Because we speak different language/ s g9 e HIoTe dierd %

3. Because we are from different country/ e gH T S A %

4. Because we do not understand English/ i Eﬁ 3T RS E R RG] %

Correct Answer :-

« Because we speak different language/ Faife &H e HTWTT Sierd &

3) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafed T
Pl HATYED YgHY 3UP - f¢d T agfamed] ==l | 9al fawey &1 a9+ B

A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

m(ﬁqalﬁ)ag%ﬁﬁémwm%lm@mmgﬂﬁwaﬂﬁﬁmﬁﬁ%lwﬁq

[ & TR BT U B3 & 379 F 34T, Siferm (em) & Jad wfaa=medt gikdt 81 fad faw
%aﬁw%mmmqﬁélm ST AN & fore I Wreaf & 3ref S-S B WP &1 TH
faftrr uTeTE Sier § 3R $3 TR WAR HI3 8 91T 31 89 R Hiarsit/ axfe) #) arafdwar F 98¢
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Ty #t R UM #31 F I exy-yor Jerae JrHfal &1 T 34 8, dife 3= faaR Waar 3
JU 3T WY 39 I£T | g9 eI, R, Wi, wasst, smaRal, aiferersi, Aisdl, Ares! ife &1
IUANT Hd &1 A AP JTARET S T Wea! ! WP 971 § HIdT Pl ¢ Hife fOR] @1 v 4
3P FH= & SINT JTHA @1 S1d1 §1 A G JTARET A eid 3@aq, of FAiffa w39, siftrm &1
I T 3Nfe A Hee Bl &1 T AT HeIPH-JHRAT BT ITGNT B34 # AfRT 1 TgATHS
BT 2T @ 3R g2fer/ ditar avf &) e & 3@ BT §1 SHeATue YIS -urRh 3 araf a1 e &
AN & U A v fhar 9 @iy, 39 R @it avg ik =181 g =nfeul

Which are the audio visual aids?/ TI-¥o0 GG -ATHRAT HIH-3T 22
1. Slide/ IIgS

2. Graph/ 9%

3. Model/ Hls@

4. All of the above/ GCPQIT:H vt

Correct Answer :-

« Al of the above/ Suad Tt

4) DIRECTIONS: Read the passage and answer the questions that follow./ = Fafafea T
P AFYED UgH 39& -1 33 T4 sgfamad) u=At # Ot fowew &1 997 31

A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely onit./

m(ﬁgﬁ)?ﬁ'%ﬁlﬁé@mm%lau‘rﬁammnﬁaﬂﬁwaﬂﬁﬁmﬁmﬁ%lwﬁq

[ q TR $T 3gHd H3d & 370 T 34T, iR (em) o Jad wfaa=medt gidt 81 fad far
%W%mwmqﬁélm 3T Wl & forg I8Y 2regl & 3 SIeTTT- 3o B AP 21 §H
faftrs yTE Ao € ok ®5 IR WUR HfS 8 S1dr 81 8 gHR Hiarsil/ a=fe] & ardafdedr & 98¢
Ty # R ueM #31 F I exy-yo0 Jerae Imfal &1 T 34 §, dife 3= faaR Waar 3
JUH 31 WY 39 I T | g9 eI, R, Bieluw, wgst, smaral, aifersrsi, Aisal, Ares! fe &1
IUANT Hd &1 A HEP JTARET §i T Wea! ! WP 911 § ARl Pl ¢ Hiife fuR] & v 4
3t FH= & SIRT IHA @1 oraT 81 A S Il e et Waq, fy fAftfa 39, siftnm &1
R 9gM 3fe & Aae Bl €1 TN 3T Jeah-HMRa] T STGRT H1 § Al P Tq- TS
BT YT @ 3R gxfep/ ar anf &) a1 A G 3T &1 SIATI He&-Ar il &1 ardl a1 saRe &
T & =4 § YT fohar o AR, 39 wR it ave ik 981 g anfguy

What is the main purpose of audio visual teaching aid?/ TU-4T AU TS -aTdl &1 qe1

I AT 3?
1. Hold attention/ STy d =T

2. Create interest/ ®fd Id B
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3. Increase permanency of learning/ S WW@(‘Q’W
4. All of the above/ G’C@'cﬁ it

Correct Answer :-

« All of the above/ B'q?j?ﬁ Tt

5) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafee T
P AFYES UgHR 39F -1 fGd T4 sgfawpadt u=Ai § Ogt fawew &1 999 o3|

A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

m(ﬁq&ﬁ)aﬁ'%ﬁﬁé@wm%lm@mmgﬂﬁwaﬂﬁﬁmﬁﬁ%lwﬁq

[ & TR BT 3gHT B3 & 379 F 3T, SR (em) & Jad wfaa=medt gidt 81 fadt faw
%W%mwmqﬁélm 3T i & forg I8Y Tregl & 31 SreIT- 3ot B AP 21 §H
faftr UTeTE Sier § 3R $3 TR WAR Hi3 8 91T 31 89 R Hiarsit/ axfe! @) arafdwar » 98¢
Ty &t R UM #31 F I exy-yo0 Jeras Il &1 T 34 8, dife 3= R Waar 3
JU 3T WY 39 I£T G g9 USRI, R, Wieuw, wsst, smaRal, aiferdrsi, Aisal, Ared! ife &1
IUANT HId &1 A AP JTARAT id T Wea! bl TP 991 & HHRIdl HIdl ¢ Hife Rl &1 v 4
3P FH= & SINT ITHA @1 ST §1 A I JTEET A nepitd 3@q, ofy FAififa &9, siftrm &1
WA T 3Mfe A Hee Bl &1 T AT TSI PH-JHRAT BT STANT B34 # SAfR] 1 Ig-TeHd
BT 2T @ 3R g2fer/ giar avf &) s & @A BT §1 SHeATuT WS -urRl $Y araf a1 e &
TEINT & ¥U A v fhar 9 a1, 39 R It ave ARk =181 g =nfeul

What should we consider before selecting the audio visual aid?/ TId 40 HeI®H-ATTA ?ﬁ I
Ugd gd foT 9l W faar o aifgee

1. The audience/ T=fearl/giamat
2. The teaching aid/ (€10 HgT—IH-AH3!
3. The model/ Higd

4. The language/ YT

Correct Answer :-

e The audience/ E{Wﬁ/%ﬁ?ﬂﬁﬁ

6) DIRECTIONS: Read the passage and answer the questions that follow./ frd=n: Frafafea wei=
P! ATTYEP UgHT 9P A fed T4 agfamed! w=Al | ugl fawey &1 99+ H¥|
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A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

= (fager) % @ o 3 o wovan §1 Tl @ aifts wourdht 3 & AR = § weg e g 1gw R
U FRf=a | TR BT U HId 8 390 & 31, Siferm (Ram) o Jad wfda=mett gidt 81 fasdt faaw
P IO & fore Rreq yafed &Y & 18reT-3renT A & fore I8 wsg) & 31 SrerT- 3rer 8 I d &1 gH
fafta HTaTE Sierd € iR S IR JAR HfS 8 S1dr 81 89 gHR Hiarsi/ <xie] &) aRdafaedr & 3¢
T 31 IR ve@ $31 F T T29- 4o Tgrae Al &1 TR $3d §, dife 3= [adR IRadr 4
T H 3T ST | 39 I A g0 Wi, o, wiehnw, Tergsy, e, aiferersh, aisdl, Ares! snfg &1
IUANT I &1 A AP AT §id T Wea! Bl WP 991 § HHIdT HIdl ¢ e fER] & v 4
3iftre A= & ST A @1 S 81 3 Jerae it e e fva vem, ofe fAfifa #<q, siftnm &1
TG geM 3fe A HeE P! &1 T ATIT A H-AHRA] BT STUNT HI1 # Al B TUATHD
BT 8T @ 3R gufer/ oiar avf &) w1 & 3@ 8T 21 AT Yers-urlt &Y araf a1 e &
TN & U H YT foham o AR, 39 wR gt ave ik &1 g anfguy

Teaching aid is used in the support of:/ 3&qTUT S -Arit &t & TgaRT § WA foear
ST 81

1. Drama/ dlc®h
2. Lecture/ IRAT
3. Discussion/ I

4. Meeting/ 9%

Correct Answer :-

e Lecture/ AR

7) DIRECTIONS: Read the passage and answer the questions that follow./ frd=n: Frafafea T
P AFYED UgHR 39& -1 33 T sgfawpadt w=al # Ot fowew &1 997 31

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapraxita aureh § TR &1 siadufeae Aead e a7 g3 31 TN $T Ieaa-1a URHATT -
YA & TR F SIRT g1 81 axga: 39 °FT (39 9 faga-aar gaffte wifia 8 ok surmfvs
SR Hred @ W weR ) fAfda v Q el # fiew 3 snaxaear s 31 39 Jueh &
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SRUBT THABRI ATHA-THA P qTadid & SN Ugard! St 81 YRa § f5d T sreqai @ T e @

6 qo ®U | SHUR AT A T §U Yol Sidagfie Aead & SivT Jeara-1d UHR gIiid &7 o 2l

T Aead uRawr 1 Jad FARET & of T 3ed €1 siadafaie Acad & 9d RS dreay (W),

3y e & WY Heayul wF FIRE fFT gu €1 379 T, ATe®, FUT-aH 3R AR &1 &5

gﬁﬁ%ﬁmﬁa%wﬁwmmaﬁqﬁmﬁwa&ﬁwmwwwaﬁgq%ﬁ%mﬁﬁmﬂw
|

Which form of communication is strong in developing countries?/fd@wra=ita =0 H TAR @7 -1
Y =M 8?2

1. Intrapersonal network/ 3fcRIqUfHRIS Fead
2. Interpersonal network/ 3idddfade Jcad

3. Mass media network/ SFETR HIeTH Aedd

4. Folk media network/ dlh HIZIH Scdd

Correct Answer :-

« Interpersonal network/ 3fddafaie “cad

8) DIRECTIONS: Read the passage and answer the questions that follow./ ﬁac."-‘ﬂ: Frafafad e
P AMYdP TP 3P 1 fed 1A agfarad) u=al # 9 fiweu &1 a9 #3¥|

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapra=ita aureh § TR &1 siadufaae Aead et a7 §3MT 31 TN BT Seaa-1d URHATT S1A-
A & TUR & ARY g1 81 aRga: 39 anf (39a) ot faya-igar 9afftie wifia § o srwis
SR A A W W3R ) fAfda wu A el $) fiew 3 snaxaear vsd 31 39 Jueh |
SRUBT THABR! ATHA-THA T qTadid & AN Ugard! St 81 YRd § f5d T sreqai @ Ao e 8
5 g@ U A THETUR 91y I U U HeRT SAdafaId Aead & ST IeaE-d TR IR R ad 8
T Aegd TR T Tad FRE & off Tow v8d €1 siadafdas Aead & a1y uRwie areay (Hifean),
3y e & WY Agayel wi Fla fbe gu €1 379 T, ATe®, FU-arH 3R AFReH &1 &5
?ﬁ%ﬁmﬁa%wﬁmwﬁ%ﬁwm%ﬁwmg@mmﬁgﬁaﬁv%mﬁmmm
|

What does face-to-face communication carries? 3THA-HHH & AR & \‘rlﬁ'E fPasTaga ﬁ?ﬂ %”
1. Mass of message/IcRIl B T=AT

2. Group of message/?i%{‘ﬂ IqHg

3. Volume of message/?i%-‘éﬁﬂ gReTor

4. None of the above/ RUCICT R ﬁé T8l
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Correct Answer :-

« Volume of message/Ic=1 &1 GRHATIT

9) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafed T
P AFYES UgHR 39& -1 33 T4 sgfamadt u=at # Ot foweu &1 997 31

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapraxita TuTel § TR &1 siadufaae Aead et a7 §3iT 31 TN BT Seaa-d URHATT -
A F FAR & ST BT &1 a¥ge: 39 AR (/) F1 fAya-iaar gaffte it @ ik surmafiyes
SR A A W W3R ) fAfda wu A el $) tiew 3 snaxaear s 71 39 TS |
SRS TSR STHA-THA Y qTadia & SR Ugardt St 81 YRa § frd 1 sreag=) @ Wb firerar @
5 g@ U A THEUR 910 I YT U HeRT SAdaiadd Head & SiNT IeaE-d YR IR $R Ad §
T Acad RAY P Jad AR # ot Hav 38d 81 Siadufade Acad & 91y YRR wregd (Hifsdm),
Yy e & WY agaye! wi gila fbe gu 81 379 T, ATe®, FUI-areH 3R AHReH @1 &5
?ﬁ%ﬁmﬁa?wﬁmww@%ﬁw«%ﬁmmg@mmﬁ@?aﬁ?%mﬁmmm
|

What does traditional mass media require?/qmﬁﬁ SR HieHH &) feast smazgedr tl%‘cﬁ %?
1. Seal of approval/ WG Bt AlGI

2. Seal of government/ IRHR 3| Iﬁ%?

3. Seal of license/ A BT HIGR
4. Seal of India/ HRd &I AlGR

Correct Answer :-

« Seal of approval/ W& d BT AR

10) DIRECTIONS: Read the passage and answer the questions that follow./ fAd=r: fAufefaa
TN $ ATYAP TP 3P - fed 14 agfaswed] w=al & 98l fawew &1 a4 +3¥|

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
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principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapraxita Turel § TR &1 siadufaae Aead faame 97 g3 31 TN $T Ieaa-1a URHATT S1A-
TRA & TUR ¥ ARY g1 81 aga: 39 Anf (39a) ot faya-igar afftie wifia § o srwiks
SR A A W W3R @) fAfda v Q el #) fiew 3 snaxaear usd 31 39 Jueh |
SRUBT THABRT ATHA-THA P qTadid & SN Ugard! St 81 YRd § f5d T sreqai @ A e g
6 o ®U | SHUR AT A T §U el Sdadfckie Aead & ST Jeara-d UHR gIiidd &7 o 2l
T Aegd TR Y ad FRE & of Gow ved €1 siadafdas Aead & a1y uRwie areay (Hifean),
3y e & WY Heaye! wiF FIRa fbe gu €1 379 T, AT, FUT-arH 3R AR &1 &5
gﬁﬁﬁmm%l?ﬁmmmmm%ﬁwmg@mwﬁgq%eﬁ?%mﬁmmw
|

¥ SN URWR® ATeaw Hgqut

Traditional media occupies an important place through:/

I g1 fhe gu &

1. Modern language/3&f<id> HTST

2. Modern education/ 3T fRraf
3. Modern science/3TYfAd faz
4. Modern dance/3TgfA® T

Correct Answer :-

« Modern education/ 3 fRr&f

11) DIRECTIONS: Read the passage and answer the questions that follow./ frd=n: Frafafea
TR &1 AWHYAP UgH: 9 A &8 T ggfawed! uxl & 9l faweq &1 797 H31

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapraxita urel & TR &1 siadufeae Aead el a7 g3 31 TN BT Seaa-1a URHATT S1A-
TRA & TUR & ARY g1 81 aga: 39 anf (39a) ot faya-igar afftie wifia § o srwis
SR A A W W3R @) fAfda v A el #) fex 3 snaxaear s 31 39 Tueh &
SRUBT THABRI ATHA-THA P qTadid & SN Ugard! St 81 YRd § f5d T sreqai @ dba e 8
6 qu ©U | SHUR AT A UTd §U e Sdagfie Aead & ST Jeara-1d TR gIiie &7 o 2l
T Aegd TR Y Tad FREL & ff Gow ved €1 siadafdas Aead & a1y uRwie wreay (Hifean),
3y e & WY Heayel wiF g1RE fbe gu €1 379 T, ATe®, FUT-arH 3R AFReH @1 &5
gﬁﬁmm%wﬁmmmmm%ﬁwmg@mwﬁgq%aﬁv%mﬁwmw
|

Traditional media consist of:/ RS ATegHEl | wfie ?—


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

1. Dance/ T

2. Dramas/ -Ic®

3. Narrations/ ®YI-dT-
4. All of the above/ Iuad Tt

Correct Answer :-

« Al of the above/ Suad Tt

12) DIRECTIONS: Read the passage and answer the questions that follow./ fd=r: fAufefaa
TR &1 AP Ugdh 9P A G T sgfawedt vl & 98l fawey 1 999 &4

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

faTa=iia THel § WUR $1 Jqdafaad Sead JMGRIRITel a7 g3 81 W BT Iea@-1g URHToT THA-
A & YIRS ST ST &1 9 39 911 (A9 $1 fagHaar waifte wifdd 2 ok surmafie
SRER Arendl A U Gewr Y fAfda T u A wWiefa # digr # smazaear usdt 81 39w A
SRUBT TSI THA-THA P qTadia & TR Ugardt St 81 YRa ¥ f5d T sreaa=t @ Tdba e @
% g0 U A THEUR UTHH | UTW §U Mo S[AdafRi® Aedd & SIiNT SeaEH I IR 1R B A4 §
T Aead ulkawr $ Jad fFREL & of Ja Yed €1 siadafeae Aead & A1d IR wread (W),
Yy e & WY Agay! ®i F1RYa fT gu 81 379 T, ATe®, FUI-aeH 3R TR @1 &5
?ﬁmmﬁlmﬁmmmm%?mmg@mmﬁm?aﬁ?%mﬁwmm
|

Folk media have been the principal instrument of transmission of:/ e ATeHH & HERUT
BT Y- A1 949 §¢ B

1. Cultural heritage/dRehfdd faRITd
2. Cultural values/SRp T AIATSi
3. Cultural norms/SRPpTdd T

4. Cultural songs/SRap s Tl

Correct Answer :-

« Cultural heritage/R& e faRmd

Topic:- Grad_Child Care and Education

1) Meaning of child development is:/ STd fa®rT &1 T 31 B:
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1. Physical & mental/ IRIR® Td AHRIS
2. Cognitive & Emotional/ I3MIcA® Td HaTMcHD
3. Over all Development/ JTafior fawrg

4. None of these/ SRigd & A do\lir:l'GDf

Correct Answer :-

« Over all Development/ grafifior faer

GET IT ON
Google Play

2) In early childhood Physical growth took place in which proportion?/

RIS arearawat § e gfs fora srqura & gt 382
1. Mental Age/ AMRI® 31

2. Social Age/ HTHIfSIH 3

3. Skeletal age/ G@GFR:I

4. Maturity age / GRUSIdT 31

Correct Answer :-

. Skeletal age/ 3% 317

3) A Human body has

Bid &
1. 49
2.46
3.48
4.50

Correct Answer :-

chromosome./ ATd IR #

4) What are the AIMS of PRE School Education:/ Jd Wrufires fien & 3z & 82

1. Healthy environment/ ¥a¥ qrdrdrul
2. Aesthetic sense/ Igd 1Y

3. Intellectual curiosity/@@éﬁﬁﬁm
4. All of the above/ JuRIdd Ft

Correct Answer :-
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« All of the above/ IWRIad Tt

5) Which is the aims of Bal Shakti Yojana?/ STd Qifa o1 &1 3229 B 9T 82
1. Control on under-weight / $AIYU[ TR {4301

2. Emphasis on play/ @HW@WW

3. Population control/ SR fA01

4. None of these/ SRgd 9 do\l'{:lﬁ

Correct Answer :-

« Control on under-weight / $AY[ TR f4d=01

6) Pre School curriculum is based on:/ 9d Wryfi® fRign ureusw foa w R w=ar

??

1. Physical Development/ IRIR® fawmrd
2. Sense Training/ sfadl ufRierom

3. Play Activities/ @d®¢ fehard

4. All of the above/ IR T

Correct Answer :-

« All of the above/ IWRiad g+t

7) What is the characteristics of special education programme?/ a9 frem

PTAHH B faRiuare 1 52

1. Special Educator/ o=y Renfag

2. Regular Class teacher/ Faffid e sremdd
3. Special-day school/ faRy feay faerer

4. All of the above/ JWRIe i

Correct Answer :-

« All of the above/ IWRIad g+t

8) Which is the effect of learning & Environment?/ 3(fRTH TYT ardTaRul &1 THTT
P ATE?

1. On Childhood/ STeUTdRIT U
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2. On adolescent/ frRaRI R
3.0n Prenatal/m-mmtﬁ
4. 0n Whole life/ T0f Sita &R

Correct Answer :-

« On Whole life/ U Sa- 0R

9) Which type of child has quality of originality?/ &3 UeR & arare # Hiferedar
T T[0T UTT STl 82

1. Creative child/ go-Rid STeldh
2. Backward child/ ICEEIGINED

3. Mentally Retarded child/ Hagf< sSTdd

4. None of these/ SRigd & 9 or;l'-:fﬂ%:f

Correct Answer :-

« Creative child/ o= ST

10) Which is the learning process of Pre School Age?/ q\'q‘wnﬁﬂ srrga%@ﬂ"@ﬁﬁ
wferar &1 <t 82

1. Learning by Memow/ﬁﬁﬁmﬁw

2. Learning by writing/ﬁ@ﬁ?ﬂ"@ﬂ

3. Learning by Imitation/WW?ﬂEﬂT
4. Learning by punishment/ISll gRT ST
Correct Answer :-

« Learning by Imitation/wmﬂﬁw

11) In AIDS -A Stand for:/ AIDS TI&¢ & 31&R A &7 Juf faw :
1. Accuracy/ QERIRQQT

2. Acquired/ QHGTEI@

3. Adolescence/ USIt=d

4. Adulation/ USdcRH

Correct Answer :-

« Acquired/ QGGT&’&F
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12) When was Bal kalyan Karyakram started?/ T STV FTIHH HF URH gl
Yr?

1. 1987
2. 1986
3. 1999
4. 1996

Correct Answer :-

« 1986

13) Period of prenatal is:/ ﬂ@ﬁl‘{[ﬁ'ﬂ'ﬂ'ﬂﬁ)‘cﬁﬁﬂm%?
1. 280 Days/280 &

2. 320 Days/320 f&=1

3. 290 Days/290 fea

4,310 Days/310fea

Correct Answer :-

. 280 Days/280 f&

14) How many bones in a human body?/ AT9d IR § $a fera-t sfyar gidl 82
1. 212

2. 206

3.200

4, 204

Correct Answer :-

. 206

15) Important career of Heredity is in:/ WWH@W@?W@W%’
1. Genes/ SiI=g

2. Cell/ DIRAebT

3. Muscles/ 3«

4. Ovum/3us]
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Correct Answer :-

« Genes/ ST

16) What is the characteristics of learning disabled?/ 3ftr farg s=af &

forward 1 W 82

1. Hyperactivity/ 3ffafsharierdr

2. Specific academic difficulty/faf2me QAferes grar
3. Disorder of attention/ 3TYT Bl I

4. All of the above/ SWRIad g+t

Correct Answer :-

« All of the above/ IuRiad gt

17) Which is the widely spread scheme for child & Women?/ WQHH‘[%?IT%@
3 faega gio=n 34 31 82

1. Integrated child development services/ gHfhd aTd faer Ja1 are

2. National Immunization Programmme/ TIE:W I BTHR] HTHH
3. National Rural Health Mission/ &1 WA fHRH
4. None of these/ IWRIad H I &5 -Ig!

Correct Answer :-

« Integrated child development services/ gHfhd aTd faer IaT Ao

18) What is the basic principles of special education?/fa= f1gn & gan@
R a3 g2

1. Emphasis on individualized Instruction/ Wﬁﬂ:ﬁf‘ﬂ:{waﬁ
2. Training in functional skill/ foparaTes I &1 ufreror

3. Emphasis on a wakening child sense/ dld® B 131 P! ORI B IR §d

4. All of the above/ SWRIad g+t

Correct Answer :-

« All of the above/ IuRiad gt

19) A Mentally retarded child IQ is less than ./ RS U s
TS B gia-afsy A 79 gl ]
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1. 88
2. 85
3. 86

4.84

Correct Answer :-

20) In which year Rashtriya AIDS control programme NACP was started?/
MY TN FRIS01 SRIH NACP &d YR fohar mar?

1. 1988
2.1994
3. 1987
4, 1992

Correct Answer :-

« 1992

21) What is ELISA? / TRl &1 82
1. Typhoid Test/ dqufesd ¢

2. Cancer Test/ $IW T

3. Fever Test/ SR O

4. AIDS Test/ TgH <X

Correct Answer :-

« AIDS Test/ UgH ¢

22) What is the Concept of leaning?/ WA | 7 areqd 82
1. Change in emotions/ T A uftgd

2. Change in feeling/ %Hﬁ[ﬁtﬁﬂ?ﬁ

3. Permanent change in behavior/ agR H T gikad

4. Change in Aesthetic sense/ dicd a1y H gRad—

Correct Answer :-

« Permanent change in behavior/ Wﬁ@ﬂ'&cqﬁ?ﬁh
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23) Last stage of language Development is?/ HTYT fd®rH & Ra} sraxyT Hi

8?

1. Crying/ shg-

2. Vocabulary/Xleq HUSR

3. Sentence formation/ aTaI AT

4. Pronunciation/ 3<dRUI

Correct Answer :-

« Sentence formation/ arey At

24) Nature of friendship during childhood is?/ Wﬁm?ﬁmﬁqﬁ

8?

1. Anthropological/ & fd faqmt
2. Homogenous/ gaaeh

3. Parental/3fHUTd® T

4. Heterogeneous/ IELEER

Correct Answer :-

« Homogenous/ qHa

25) Integrated education plan is related to?/ SHf&d R aiwAr feaw Gafia sl
2

1. Exceptional child/ fafare srde

2. Genius child/ 9fdHTa™ STd®

3. Creative child/ JS-lcH® dlcidh

4. None of these/ SRied & 9 or;l{ﬂ%:f

Correct Answer :-

« Exceptional child/ fafere sras

26) Which is the factor of National AIDS Control organization (NACO)?/ IS
s R STdwH $T FRE i A1 8?2

1. Protective blood programme/ Yok Y& HTIHH

2. Help from Non-government organization/ ?ITW@WW'H
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3. Help from government organization/ WRORT TS BT TN

4. All of the above/ IURIad g

Correct Answer :-

« All of the above/ IuRiad gt

27) Protection of child Rights related to?/ = & @ &7 91 919 SfRI Ft 38m A
defta 22

1. ICDS
2. ICPS
3. NACO

4. UNICEF

Correct Answer :-

« ICPS

28) In Infancy study of emotional Development was done by:/ ATMaRT A
Trafire faere sreaye ford yoR foar wirar 32

1. Interview/ HI&Th R
2. Observation/ fsiemon
3. Research/ 3JHYM

4. All of the above/ IWRIad gt

Correct Answer :-
e Observation/ o

29) What are the types of physically handicapped?/ /= # 9 =RIfY® faswaimar
& UPR Id1sT?

1. Hearing Impaired child/ W&Iﬁlﬂaﬂw
2. Vision Impaired child/ %’@E\,{G‘HW

3. Orthopedic handicapped/ 3R fawmai ara®
4. All of the above/ SWRIead T

Correct Answer :-

« All of the above/ IRIad gt
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30) Curiosity tendency is the characteristic of which age?/ for9qg ugfa s
3rqRyT ! fawar g2

1. Infancy/ =MTRIT
2. Childhood/ STcITdRIT
3. Adolescence/ T URTGRI

4. None of these/ SRIad & A dﬁ{Tﬁ

Correct Answer :-

« Childhood/ STcATdRT

31) Perception, Abstraction, Transfer are Characteristics of /

weaafieRor, Srgfefeor, ST FI fdyan @
1. Cognitive/ IJMIH®

2. Creativity/ Jol-IHP

3. Aesthetic/ m‘ﬂ

4. Emotions/ HdI

Correct Answer :-

« Cognitive/ IMTHD

32) When did Atal Bal Arogaya Poshan established?/ 3ied aTd 3IRITg UI9UT fireM
P TITYAT B B TS 82

1. 2011
2. 2010
3. 2008

4, 2012

Correct Answer :-
« 2010

33) Which is the method used for educating hard hearing children?/ W'{Fﬁ
I TS & ol SuAT @Y 715 Rreror fafy #= <t 82

1. Manual Method/ g fafy
2. Sign language method/ g Yo fafdr

3. Aural Method / %dUr I fafe
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4. All of the above/3IuRlad g+t

Correct Answer :-

« All of the above/IWRIa I

34) Dicrali method of teaching is related to?/ %W?ﬂﬁrwﬁ&rmﬁw&m%v
1. Mentally Retarded children/ AFRI® ¥4 ¥ =Y ST

2. Crippled child/ 34U §Telsh

3. Child with defective speed/ mﬂaﬁgaﬁw

4. Genius child/ UfdHTa STd%H

Correct Answer :-

« Mentally Retarded children/ AFRI® ¥4 ¥ ey S1a6

35) Who gave classic conditional theory?/ 3fspar @1 Rrgr foeas fear ur?
1. Pavlov/ Uradid

2. Skinner/ PR

3. Kohler/ ®IgeR

4. Throndike/ YTeR®

Correct Answer :-

« Pavlov/ LICRIEE

36) Gross Movement is related to?/ @ Tfafaftrar fead defta g2
1. Motor Development/ forars famr

2. Physical Development/WﬁW

3. Mental Development/ AFRI® fd&™T

4. Emotional Development/ Jomd® fomr™

Correct Answer :-

« Motor Development/ feard® fdsg

37) Chromosomes are related to:/ U fHad Tefima gid 8:

1. Respiration/ Rad4
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2. Reproduction/ UsH4
3. Transmission of Heredity Character/ 3{JdifRie 0N &1 RIMIAROI

4, Digestion/ UTd+

Correct Answer :-

. Transmission of Heredity Character/ 3fdifRie Ul &1 IR

38) NACO is related to which disease?/ -T®! $T ¢ fHd IT A 82
1. AIDS/ TgH

2. Cancer/ IR

3. Typhoid/ qufe®

4. Bery-Bery/ I

Correct Answer :-

. AIDS/ TSH

39) Necessary factor for cognitive development is:/ Jo-Td® f[dPHN 7q TaAD
T DI |1 82

1. Sentiment/‘v'iaﬂ
2. Meditation/ IERE
3. Logical/ GIEEI
4. All of the above/ SWRI% GHi

Correct Answer :-

« All of the above/ SWRIad Tt

40) Change in size & proportion are pattern of:/ 3THR TUT AFUTd T ufRad=
e ufaeu 8-

1. Development/fd®r™

2. Growth/ ‘q’@

3. Mental Process/ ATFRI® Uighar
4. Learning/31f&nmd

Correct Answer :-

« Development/fd®Ta
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41) According to Hurlock human Development has how many stages?/ WAlD

& IR A4 fasra & fpa-it srawird qardt 715 82
1.11
2.6
3. 10
4.8

Correct Answer :-

42) When was Rashtriya AIDS control programme started?/mmﬁﬁﬂw
PRIHH Hd YIRTY 3T UT?

1. 1987
2. 1988
3. 1989
4. 1986

Correct Answer :-

- 1987

43) AIDS does not spread through:/ ﬁmﬁﬁﬁr&%mmqﬁméz
1. By Shaking hand/ g1y i 9

2. Unprotected Sexual Relation/ 3RIRT&d a4 ey

3. Unprotected Blood donation/ W&Iﬁ?ﬂﬁaﬁﬁ

4. Infected Needle/ T Hd g

Correct Answer :-

« By Shaking hand/ g1¥ fiamq @

44) Exceptional children have category./ fafRmse sTa®! @t g@I@:
Sforai gt &

1.5
2.6
3.8
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4.3

Correct Answer :-

e 5

45) Right Stage of Prenatal Development is:/ T4 Y] foeTa &1 98 v9 S 41

2

1. Period of Embryo, Period of Ovum/ fUUE 3@, S sawi
2. Period of fetus, Period of Embryo/ me faug sraw
3. Period of Ovum, Period of Embryo/ f&& 3@y, fius sy
4. None of these/ IWRIdd H I HIs g

Correct Answer :-

« Period of Ovum, Period of Embryo/ f&% 3/awi1, fUus sawy
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